

Bid Results

Bidder Details

Vendor Name Gentry General Engineering Inc
Address 9277 Archibald Ave
Rancho Cucamonga, California 91730
United States
Respondee Brenton Gentry
Respondee Title President
Phone 909-330-1128
Email gentrygeneral@gmail.com
Vendor Type
License #
CADIR

Bid Detail

Bid Format Electronic
Submitted 08/19/2021 1:25 PM (PDT)
Delivery Method
Bid Responsive
Bid Status Submitted
Confirmation # 264069

Respondee Comment

Please note that embossed seals may not be visible in scanned documents.

Buyer Comment

Attachments

File Title	File Name	File Type
Proposal.pdf	Proposal.pdf	Bid Bond
Proposal.pdf	Proposal.pdf	Bidder's Attachments

Subcontractors

Showing 3 Subcontractors

Name & Address	Desc	License Num	CADIR	Amount	Type
California Professional Engineering, 19062 San Jose Ave La Puente, California 91748	traffic signal and pull boxes	793907	1000377609	\$78,100.00	OSB, DBE
Pavement Recycling Systems, Inc 10240 San Sevaine Way Mira Loma, California 91752	asphalt grinding	569352	1000003363	\$6,695.00	
Superior Pavement Markings 5312 Cypress Street Cypress, California 90630	signing and striping	776306	1000001476	\$11,660.00	

Line Items

Discount Terms No Discount

Item #	Item Code	Type	Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
							\$233,440.68		
Section 1									
1			MOBILIZATION	LS	1	\$5,588.75	\$5,588.75	Yes	
2			CLEARING, GRUBBING, AND MISCELLANEOUS REMOVALS; LANDSCAPE RESTORATION	LS	1	\$7,829.26	\$7,829.26	Yes	
3			WATER POLLUTION CONTROL BEST MANAGEMENT PRACTICES	LS	1	\$4,269.84	\$4,269.84	Yes	
4			TEMPORARY TRAFFIC CONTROL	LS	1	\$13,673.36	\$13,673.36	Yes	
5			REMOVE EXISTING AC PAVEMENT	SF	650	\$6.12	\$3,978.00	Yes	
6			REMOVE EXISTING CURB AND GUTTER	LF	125	\$51.77	\$6,471.25	Yes	
7			REMOVE EXISTING SIDEWALK	SF	450	\$3.67	\$1,651.50	Yes	
8			REMOVE EXISTING DRIVEWAY	SF	500	\$7.34	\$3,670.00	Yes	
9			REMOVE EXISTING CURB RAMP	EA	2	\$1,905.73	\$3,811.46	Yes	
10			CONSTRUCT CURB RAMP PER CITY OF FONTANA STANDARD PLAN NO. 1003 (MODIFIED) OVER 12" MIN 95%COMPACTED NATIVE	EA	4	\$2,883.18	\$11,532.72	Yes	
11			CONSTRUCT 8" CURB AND GUTTER OVER 12" MIN OF 95% COMPACTED NATIVE PER CITY OF FONTANA STANDARD PLAN NO. 1000.	LF	180	\$37.58	\$6,764.40	Yes	
12			CONSTRUCT 6.5" MIN. AC PAVEMENT OVER 12" MIN OF 95% COMPACTED NATIVE SUBGRADE PER CITY STD. 400.	SF	960	\$8.02	\$7,699.20	Yes	
13			CONSTRUCT 4" THICK P.C.C. SIDEWALK OVER 12" MIN OF 95% COMPACTED NATIVE PER CITY OF FONTANA STANDARD PLAN NO. 1006.	SF	660	\$4.46	\$2,943.60	Yes	
14			ADJUST PULL BOX TO GRADE	EA	9	\$1,041.16	\$9,370.44	Yes	
15			ADJUST WATER VALVE TO GRADE	EA	3	\$370.83	\$1,112.49	Yes	
16			ADJUST STORM DRAIN MANHOLE TO GRADE	EA	3	\$1,056.39	\$3,169.17	Yes	
17			CONSTRUCT 6" THICK PCC DRIVEWAY OVER 12" MIN 95% COMPACTED NATIVE PER CITY OF FONTANA STANDARD PLAN NO. 1001.	SF	250	\$9.76	\$2,440.00	Yes	
18			CONSTRUCT 6" THICK AC PAVEMENT DRIVEWAY TRANSITION OVER 12" 95% COMPACTED NATIVE	SF	325	\$8.89	\$2,889.25	Yes	
19			INSTALL DETECTABLE WARNING SURFACE, PER CITY OF FONTANA STANDARD 1003	EA	2	\$930.94	\$1,861.88	Yes	
20			GRIND EXISTING PAVEMENT WITH 0.17' AC MIN PER DETAIL "C"	SF	6500	\$1.19	\$7,735.00	Yes	
21			OVERLAY EXISTING PAVEMENT WITH 0.17' AC MIN PER DETAIL "C"	SF	6500	\$3.42	\$22,230.00	Yes	
22			CONSTRUCT 6" RETAINING CURB	LF	180	\$24.72	\$4,449.60	Yes	
23			FURNISH AND INSTALL HAND RAIL	LF	35	\$85.22	\$2,982.70	Yes	
24			CONSTRUCT 12" CURB AND GUTTER OVER 12" MIN OF 95% COMPACTED NATIVE PER CITY OF FONTANA STANDARD PLAN NO. 1000.	LF	20	\$42.45	\$849.00	Yes	
25			TRAFFIC SIGNAL	LS	1	\$80,979.02	\$80,979.02	Yes	
26			SIGNING AND STRIPING	LS	1	\$13,488.79	\$13,488.79	Yes	

Line Item Subtotals

Section Title	Line Total
Section 1	\$233,440.68
Grand Total	\$233,440.68